Monday, October 13, 2014 9:45 AM

udt_rcv(revpkt) && notcorrupt(rcvpkt)
&& has_seq0({rcvpkt)

extract(rcvpkt,data)
deliver_data(data)

sndpkt = make_pkt(ACKO, chksum)
udt_send(sndpkt)

udt_rcv(revpkt) &&
{(corrupt(rcvpkt) ||
has_seq0{rcvpkt))

udt_rcv(rcvpkt) &&
(corrupt(revpkt) ||
has_seqi1(rcvpkt))

Wait fo
1 from
below

receiver FSM

udt_send(sndpkt)

udt_send({sndpkt) udt_rev(revpkt) && notcorrupt(revpkt)
4
&& has_seq1(rcvpkt)
extract(rcvpkt,data)

deliver_data(data)
ndpkt = make_pkt(ACK1, chksum)
udt_send(sndpkt)
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A medlum which canlese, delay and corrupt packets
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